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A DBMS should allow the user to 

Define the database; that is, the user should have the ability to choose the appropriate data structure, the data types and the data constraints.


For instance, in this course we will be working with the relational model.  In this model, everything that we want to represent in the database will be represented in the form of a table. Therefore, in a relational data model, we should be able to create tables. That is, if we want to keep information about the employees of a particular company, we should be able to represent theses employees in tables. In addition to the employees we also need to represent their characteristics.  For instance, one piece of information that we need to keep is the name of the employee. However, to say that we need to represent an employees’ name is not enough since we also need to differentiate between first, middle and last name. For each of these employees characteristics we need to determine the number of characters that we will allow for each name.  Most databases allow 20 characters for a first name. This may work fine in America but it may be an inconvenience in some other parts of the world where manes are customarily much longer.  Similar situation may occur with some other characteristics of the employee. For instance, can the salary be negative? Can it be any number? What’s is the maximum salary that is allowed?  These conditions that we impose on the data are called constraints.  A DBMS should allow the user to impose constraints in the data.

In additon to be able able to define the database, the user should be able to construct the datase; that is, to store the data in the most appropriate medim that can be accessed by the dbms. 


A database should behave the same regardless of the medium in which it is stored.

